(B I lEppm]

= ==(5H)
HRES s H26 H27 H28 H29 H30 R1 R2 i
1 %E’rﬁ%ﬁﬁ 0.011 0.010 0.010 0.006 0.012 0.013 0.008 0.010
2 E /N 0.011 0.010 0.009 0.009 0.011 0.013 0.012 0.011
3 EREEA 0.011 0.008 0.009 0.006 0.014 0.006 0.009 0.009
4 Il smER 0.011 0.009 0.010 0.006 0.013 0.006 0.008 0.009
5 HANE 0.015 0.012 0.015 0.011 0.016 0.011 0.014 0.013
6 KINBREE 0.012 0.008 0.011 0.010 0.014 0.010 0.011 0.011
7 TR AR/NERL 0.018 0.012 0.014 0.014 0.017 0.010 0.012 0.014
8 SRLG 0.016 0.011 0.012 0.009 0.015 0.012 0.014 0.013
9 I EER 0.016 0.012 0.016 0.012 0.017 0.011 0.014 0.014
10 |FEEA2THARE - - - 0.014 0.013 0.009 0.010 0.012
11 J\IB/NER 0.011 0.008 0.010 0.007 0.013 0.007 0.008 0.009
iy 0.013 0.010 0.012 0.009 0.014 0.010 0.011 0.011
N:= = e

oo HEFAEHE (GHAZER) (ppm)
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(B I lEppm]

= Z2Z(8A)
HRES s H26 H27 H28 H29 H30 R1 R2 i

1 %E’rﬁ%ﬁﬁ 0.013 0.007 0.009 0.012 0.008 0.008 0.007 0.009
2 E /N 0.015 0.007 0.009 0.011 0.010 0.008 0.009 0.010
3 EREEA 0.014 0.007 0.009 0.012 0.009 0.009 0.008 0.010
4 Il smER 0.014 0.008 0.010 0.012 0.008 0.008 0.008 0.010
5 HANE 0.018 0.010 0.016 0.016 0.012 0.011 0.014 0.014
6 KINBREE 0.014 0.006 0.010 0.014 0.009 0.008 0.007 0.010
7 TR AR/NERL 0.014 0.010 0.013 0.017 0.009 0.009 0.010 0.012
8 SRLG 0.012 0.007 0.010 0.017 0.011 0.011 0.010 0.011
9 I EER 0.013 0.010 0.011 0.017 0.011 0.009 0.011 0.012
10 |FEEA2THARE - - - 0.016 0.008 0.006 0.007 0.009
11 J\IB/NER 0.011 0.007 0.009 0.012 0.007 0.007 0.006 0.008

iy 0.014 0.008 0.011 0.014 0.009 0.009 0.009 0.010
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(B I lEppm]

= MEG1A)
HRES s H26 H27 H28 H29 H30 R1 R2 i
1 %E’rﬁ;%ﬁﬁ 0.020 0.017 0.020 0.018 0.012 0.011 0.015 0.016
2 E /N 0.019 0.018 0.022 0.019 0.017 0.012 0.016 0.018
3 EREEA 0.021 0.018 0.021 0.020 0.014 0.012 0.018 0.018
4 Il smER 0.019 0.016 0.019 0.018 0.013 0.012 0.016 0.016
5 HANE 0.021 0.020 0.022 0.021 0.016 0.012 0.019 0.019
6 KINBREE 0.022 0.019 0.023 0.021 0.020 0.013 0.016 0.019
7 FRIARNERS 0.024 0.022 0.025 0.024 0.016 0.012 0.016 0.020
8 SRLG 0.023 0.020 0.025 0.023 0.018 0.013 0.018 0.020
9 I EE 0.023 0.021 0.025 0.026 0.012 0.013 0.018 0.020
10 [WREA2TEHLAER - - - 0.026 0.018 0.014 0.016 0.019
11 J\IB /DR 0.019 0.017 0.020 0.018 0.012 0.012 0.014 0.016
Eiy 0.021 0.019 0.022 0.021 0.015 0.012 0.017 0.018
N:=T==) =

- MEBEHRE (11 A ZENE) (ppm)
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(B I lEppm]

= X% (2H)
HRES s H26 H27 H28 H29 H30 R1 R2 i
1 %E’rﬁ;%ﬁﬁ 0.013 0.017 0.012 0.015 0.019 0.014 0.015 0.015
2 E /N 0.015 0.019 0.012 0.016 0.020 0.015 0.016 0.016
3 EREEA 0.013 0.018 0.012 0.017 0.023 0.016 0.017 0.017
4 Il smER 0.012 0.017 0.012 0.016 0.021 0.016 0.015 0.016
5 HANE 0.020 0.022 0.015 0.018 0.022 0.014 0.019 0.019
6 KINBREE 0.017 0.020 0.013 0.017 0.020 0.016 0.015 0.017
7 TR AR/NERL 0.020 0.024 0.016 0.020 0.022 0.016 0.018 0.019
8 SRLG 0.017 0.021 0.015 0.021 0.023 0.014 0.019 0.019
9 I EE 0.020 0.023 0.018 0.020 0.026 0.017 0.019 0.020
10 |FEEA2THARE - - - 0.019 0.021 0.017 0.016 0.018
11 J\IB /DR 0.012 0.018 0.012 0.018 0.018 0.012 0.014 0.015
iy 0.016 0.020 0.014 0.018 0.021 0.015 0.017 0.017
N:=T==) ==

- XFHEFE (2B ER) (ppm)
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